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DO00000000000 O The effect governmental
expenditures on the total economy varies with both the level of
utilization of labor and capital in the economy at the time of the



expenditurel] and the segment of the economy which receives the
expenditure. [ If the economy as a whole or the segment of
economy which is the focus of the expenditure is operating at
capacity or close to capacityl] then the expenditure* s major effects
will tend to be inflationary growth(d and will not generate much
employment of capital and labor. I If the economy or sector is
operating at much less than full employment. The expenditure will
produce a genuineld non-inflationaryl] rise in the GNP. 0O O [ [
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